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EEPAK Nayyar was chief eco-
Dnomic adviser to the govern-

ment for 18 months, till De-
cember last year, when he decided to
return to academia. In this first in-
terview since he demitted office, he
speéaks to The Economic Times about
a range of questions connected with
the macro-economic adjustment and
structural reform programmes now
underway. The interview is being
published in two parts; the second
and''concluding part will be pub-
lished on this page next Tuesday.
Q:How do you see your 18 months in
office as chief economic adviser?
A: It was, to say the least, a difficult
18 months. There was turbulence
in the polity, which saw three gov-
ernments in office. There was a cri-
sis in the economy, the like of
which we have not experienced in
independent India. And for those of
us concerned with the macro-man-
agement of the economy, there
were long periods of anxiety inter-
spersed with moments of despair.
Q: Are you saying it was all gloom
and despair?
A: Well, there were some occasion-
al’' moments of relief, but no mo-
ments of joy. Yet, it was a challenge
for a professional economist inter-
ested in macro-economics and poli-
cy formulation. And it was an op-
portunity to serve the country in
difficult times. A
Q: What was the most difficult
riod?
A: The period from mid-March to
mid-June last year was the most dif-
ficalt. The balance of payments sit-
uation was almost unmanageable,
arid ‘we were close to default for
much of the time. The prolonged
political interregnum in the run-up
to' the elections, when there was
only a caretaker government, made
an exceedingly difficult task close
to impossible, because essential
policy instruments, which required
major policy decisions, were sim-
ply not usable.

The period from late-June to
early-August, after the present gov-
ernment assumed office, was also
exceedingly difficult, The balance
of payments situation was desper-
ate'as the threat of default loomed
large. Making difficult choices and
reaching hard decisions during this
phase was not any easier.

(Q:How did we get into this crisis?

A:'The fiscal mess and the balance
of ‘payments crisis ‘are neither an
accident nor a coincidence. They
are'a direct consequence of finan-
cial profligacy and fiscal laxity in
the second half of the 1980s. The
irony is that, at the time, many of us
had warned that any growth pro-
cess based on borrowing was sim-
ply not sustainable, as the BoP situ-
ation would become unmanageable
and inflation would exceed the lim-
its of tolerance. But the decision-
makers then were convinced that
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they could borrow and spend their
way to prosperity.

Q: What do you see as your main
achievement during your term in
office? |
A: It may sound odd, but the main
achievement was that India did not
default on its obligations. It was
touch and go, but we were able to
save the nation from bankruptcy.
Q: What were the failures?

A: An important failure, due to cir-
cumstances beyond the control of
individuals, was that the Budget
could not be presented last Febru-
ary. In terms of the management of
the. economy, this narrowed our
limited opticns even further, and
made it difficult to cope with the

- deepening fiscal crisis.

Q: Would you like to comment on the
reasons for your decision to leave
the government and return to acade-
mia, especially after your selection
by the UPSC as chief economic ad-
viser?

A: The decision to resign and re-
turn to academia was indeed a con-
scious act on my part. For one, I am
not a career civil servant. Nor do 1
seek a career in the civil service. So
my return to the ivory tower is only
natural. For another, in any situa-
tion, thereis a time for arrival and a

The main
achievement was
that India did not

default on its
obligations. It

but we were able
to save the nation
from bankruptcy.

time for departure. I came to the
conclusion that, all things consid-
ered, it was time for departure.

Q: You are not saying very much.

A: I think I am saying enough.
Some things are best left unsaid. I
am sure you understand.

Q: Did you have any policy differ-
ences with the government that
prompted you to take this decision?
A: Yes, there were differences. I
should add that differences in per-
ception and judgement are inevita-
ble when the nation is confronted

with such difficult choices in the
management of the economy. At
the same time, there are thresholds
which are important. But my deci-
sion to leave should not be attribut-
ed to these differences alone. |

Q: Your departure, and the decision
to replace Mr S.P.Shukla as finance
secretary, has been interpreted as

_ the departure of the ‘leftists’ in the

finance ministry, leaving behind
people who are more in tune with the
thinking of the IMF and the World
Bank. Would you like to comment?

A: This is not for me to say, it is for
others to judge. On my part, I

GDP this year is attributable to the
severe import compression and the
tight monetary policy, which have
affected industrial production. Ag-
ricultural growth too may be lower
than expected, if not negative.

Inflation is higher than expect-
ed because there was no seasonal
downturn in prices in the third
quarter of the fiscal year. There
was the large liquidity overhang in-
herited from the unbridled growth
of money supply during the Sev-
enth Plan period, and monetary
policy is not able to discipline the
parallel economy.

danger of stagflation is much
greater.

Q: The indications are that the target
for fiscal deficit this year, at 6.5 per
cent, will prove almost impossible to
achieve. What would be your assess-
ment of the final level of fiscal defi-
cit? And what is the IMF’s reaction
likely to be if the target is missed by
a fairly wide margin? For instance,
would that throw the stand-by ar-
rangement into crisis?

A: In the absence of the data, it is
difficult for me to give an assess-
ment of what the fiscal deficit
would be. Newspaper reports sug-
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would only like to stress that I

worked as chief economic adviser
for three successive governments.
My advice to each, always dispas-
sionate and candid, was based on
considered professional judgement
where the fundamental concern
was national interest.

Q: When the Budget was drawn up in
July 1991, the calculation was that
economic growth this year would be
3.5 to 4.0 per cent, and inflation
about 10 per cent. Both assessments

have gone awry. Why did the govern-

ment’'s assessments go wrong, and
what does the situation today mean
for the short-term future?

A: In retrospect, it is clear that both
assessments were wrong. But there
is no such thing as perfect foresight
in economics. The slower growth in

Inflationary expectations are
considerable, and have been accen-
tuated by the stop-go method of
hikes in administered prices, which
came in hiccups over time: first fer-
tiliser and petroleum, then coal,
subsequently sugar and foodgrains,
now steel, and so on. When these
increases come in stages, it tends to
make people believe that prices will
increase further.

(): Couldn’t these factors have been
foreseen, and why did the govern-
ment fail to see them? ,

A: Some could not have been fore-
seen. Others could. This is where

assessments go wrong.

(Q: What does it mean now, since
both growth and inflation are worse
than had been anticipated?

A: Taken together, it means that the
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gest that it will be very difficult, if
not impossible, to stay within the
limit of 6.5 per cent of GDP. There
are expenditure over-runs, as in
the case of subsidies, and revenue
shortfalls, especially in customs du-
ties. These far exceed the savings
realisable from the 5 per cent cut in
expenditure announced in Septem-
ber. Imbalances in trade with the
erstwhile USSR also mean that
technical credit is running at levels
much higher than anticipated. So is
net RBI credit to the Centre. These
trends suggest both the budget defi-
¢it and the fiscal deficit would ex-
ceed the estimated levels.

Q: Some attempt seems to be under
way to paper over these problems in
the accounting.

A: It will serve little purpose to de-

e ——— .

fer expenditure or advance receipts
in order to achieve 6.5 per centin a
cosmetic manner, because that will

only postpone the day of reckoning.

Q: Will the IMF accept any deviation
from the 6.5 per cent target?

A: I do not know. The IMF may ac-
cept a small deviation, say one-
fourth of a percentage point. Any-
thing beyond that could have
serious implications, and the future
of the stand-by arrangement with
the Fund would then become a mat-
ter for fresh negotiation.

Q: If there is to be no fudging of the
figures, and one has to stay within
the limits agreed to with the IMF,
what are the options available?

A: The danger is that we will go in
for the least desirable pattern of ex-
penditure cuts, on social sectors
and on infrastructure. Unless the
ministry of finance can pull a rabbit
out of the hat, or unearth undis-
closed cushions, at this late stage
adjustment can only come from
cuts in expenditure, especially in
social sectors and in infrastructure.
This would add to the burden on
the poor in the short run and
squeeze supply responses in the
medium-term.

Q: How easy, or difficult, will it be for
the government to achieve the fiscal
deficit target next year, of 5 per cent
of GDP?

A: Easy is not the word. It would be
exceedingly difficult at the best of
times. It will be close to impossible
if the limit for this year is missed by
a wide margin. In terms of an intel-
lectual construct, it is possible to

Inﬂationary
expectations are
considerable, and

have been
accentuated by
the stop-go
method of hikes
in administered
prices.

think of methods for reducing the

fiscal deficit to 5 per cent next year,
but all the hard decisions needed
for this are not likely to materialise.
Q: Why?

A: To give you an idea of how diffi-
cult 5 per cent is, one must recog-
nise that the primary deficit (which
is the fiscal deficit less interest pay-
ments) would have to be reduced
from about 4 per cent of GDP last
year to near zero level next year.

Q: What are the options which the fi-
nance minister has if he is to limit

the fiscal deficit next year to 5 per
cent of GDP?

A: It is clear to me that such a sub-
stantial fiscal adjustment will have
to come from an appropriate mix of
expenditure cuts and revenue rais-
ing measures. I believe there are
limits to expenditure adjustment;
first, the available fat has already
been trimmed to a considerable ex-
tent in this year’s Budget; second, it
is imperative to protect outlays in
social sectors and investment in in-
frastructure. In the current year,
only 20 per cent of the fiscal adjust-
ment has come from revenue rais-
ing measures (if one excludes the
sale of public sector equity), while
80 per cent of the adjustment has
come from expenditure cuts.

Therefore, an extraordinary ef-
fort is now needed to mobilise reve-
nue, where the focus must be on di-
rect taxes. In a period where we are
imposing a substantial burden on
the poor through expenditure ad-
justment, the equity principle de-
mands that the non-poor share in
this burden through their contribu-
tion to direct taxes. In my judge-
ment, it is absolutely essential to
broaden the base for direct taxes so
that a larger number of people are
brought into the tax net, and to
deepen the structure of direct tax-
ation by increasing the average
rates of tax.

This means that the income tax
exemption limit should be reduced
rather than increased, and the de-
ductions should bé removed rather
than rationalised; and loopholes in
the provisions should be plugged to
pre-empt avoidance and improve
compliance. The provisions for tax
deduction at source (TDS), intro-
duced this year, should be strength-
ened rather than diluted, and the
rate of TDS should be raised rather
than lowered.

Similarly, there is considerable
scope for mobilising revenue from
direct taxes through a structural
change in the provisions for capital
gains tax. I see no reason why 60
per cent of long-term capital gains
should be deductible from taxable
income after a base deduction of Rs
15,000. There is a need to index-
link the cost of acquisition of assets
in computing long-term capital
gains, but the present provisions
are far too generous.

Q: What are the implications of a
dramatic cut in customs tariffs?

A: If the widely expected reduction
in customs tariff levels is to be reve-
nue-neutral, every rupee foregone
on customs duties means almost
two rupees must be raised from ex-
cise duties, because 45 per cent of
excise duties accrue to the states,
whereas customs duties accrue en-
tirely to the Centre. The reduction
in customs duties may not be feasi-
ble in view of the balance of pay-
ments situation and the depen-
dence of the exchequer on tariff
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revenues. The compensating in-
crease in excise duties is not desir-
able because it is both inflationary
and regressive.

Q: Since inflation has not been
brought under control, will this force
the continuation of a very tight mon-
etary policy, with the inevitable re-
sult of more widespread industrial
recession? What, for instance, would
be your assessment of the economy’s
and industry’s growth prospects in
1992-93? |

A: If inflation is not controlled, and
the balance of payments situation
does not stabilise, the tight mone-
tary policy is bound to continue.
The prospects for growth next year
would then be gloomy. Even other-
wise, in a period of substantial fis-
cal adjustment, I would not expect
growth of over 3 per cent.

Q: Would you then consider the
Eighth Plan’s five-year growth tdarget
of 5.6 per cent to be realistic?

A: No, sir. In a process of macro-
economic adjustment which will
take at least three years to com-
plete, the growth target for the
Eighth Plan is simply not realistic.
Compared with the Seventh Plan, a
slowdown is inevitable because
growth in the last plan was sus-
tained by borrowing, which creat-
ed the large macro-economic imbal-
ances that have led us into this
crisis.

Both the country and the gov-

ernment must learn to live within
their means, and this means a slow-
er, sustainable, growth process.
Unless, of course, you assume a ma-
jor increase in the savings to GDP
ratio, and a significant improve-
ment in the capital-output ratio.
Q: It has been argued that the com-
mitment which the government has
given to the IMF, to reduce the fiscal
deficit drastically this year and next
year, is one that will be almost im-
possible to achieve, and that we
should not in fact have agreed to
such stiff conditionality with regard
to fiscal adjustment. Did we have
any option, say in the form of a
trade-off for structural adjustment
in return for easier fiscal correction?
A: At that juncture, there was little
choice in the matter. We were in a
terrible fiscal mess and an acute
BoP crisis, so that our bargaining
position was by no means strong. It
is my view that there was no leeway
in the negotiations with respect to
what was perceived as the mini-
mum essential fiscal adjustment.
This adjustment, difficult though it
may be, is also in our national inter-
est, provided its composition is ap-
propriate and desirable. Let me em-
phasise that there is no trade-off
between fiscal adjustment and
structural reform. This illusory
choice is perhaps advocated by
those who did not have to manage
the impossible situation then and
would like to move farther and fast-
er with structural reform now.

P ——

+
g
M



